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3. /3 & URAIBR] J[UHEUE B[ A EP:

Answer: §

O dfdswm @

4.2 + /3 S IREYSRY J[UFEUS Bl A E11:


https://dl.doubtnut.com/l/_rU9VkK684g6N
https://dl.doubtnut.com/l/_9AEUtRm5lA3U
https://dl.doubtnut.com/l/_bH6RheUGc7ML

A2—./3
B.v/2+3
C.v/2-3

D./3 —2

Answer: A

O dfd @

_ 1
5.3z = /5 + 2, m—;ﬁﬁﬂiﬁ"‘ﬂ:

A.2,/5
B. 4

C.2

D./5

Answer: §

O drdiswm



https://dl.doubtnut.com/l/_bH6RheUGc7ML
https://dl.doubtnut.com/l/_ci8nW5ipS1y4
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Oaﬁﬁzﬂmaﬁ

7. 31/500 BT IRTIAH GRAABRT I[UMHETS 81T :

A 32
B.3/5
C.v/3


https://dl.doubtnut.com/l/_ci8nW5ipS1y4
https://dl.doubtnut.com/l/_9TFVC1zcvuGx
https://dl.doubtnut.com/l/_CdEehBuXit09

D.3/3

Answer: 3
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8.1/3 + /b B WeIdH IRAIBR] JUMEUE EPTI :
A3 -5
B.3—+/5
C.v/3—4/5

D./3+ /5

Answer: §

O dfd @

9.2,/5 — /3 &1 IcldH IRAIBR J[UHEUS gPT :


https://dl.doubtnut.com/l/_CdEehBuXit09
https://dl.doubtnut.com/l/_GlDMDZqAjgea
https://dl.doubtnut.com/l/_GdeWwjZYOot3

A2,/5+3

B.2,/5+ /3

C.v/5+43

D./5 — /3

Answer: §
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10.9R e = — = A (2 — 3)° RR T
3+7

A1l

B.3

C.6

D.7

Answer: D

Qmmaﬁ



https://dl.doubtnut.com/l/_GdeWwjZYOot3
https://dl.doubtnut.com/l/_PsosgrQEzstt

1 1
Nz = 7+ 43T xy=1 A AN, — + — IR EPM:
z (]
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B.134
C.194

D.1/49

Answer: C

Q dtdw

12.?Jﬁz+\/1_5:4€f?ﬁw+%wﬁ"ﬂ:

A2
B.4

C.8


https://dl.doubtnut.com/l/_PsosgrQEzstt
https://dl.doubtnut.com/l/_LUfEimUwfjKO
https://dl.doubtnut.com/l/_dOLMY5UZ743A

D.1
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B.aRe = (24 3) P @dL® + %Wfﬁm:
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B.4
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D.9
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https://dl.doubtnut.com/l/_dOLMY5UZ743A
https://dl.doubtnut.com/l/_rzmxP2xfPOMj
https://dl.doubtnut.com/l/_7k9jvKFkxYW6
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A. 101
B. 99
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https://dl.doubtnut.com/l/_7k9jvKFkxYW6
https://dl.doubtnut.com/l/_vTfK9qCyRkYh
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Answer: A
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A3 — /2
B.v/3 + 2

C.v/5++6


https://dl.doubtnut.com/l/_vTfK9qCyRkYh
https://dl.doubtnut.com/l/_eXoJS3uhUp4s
https://dl.doubtnut.com/l/_wFGPBlFhkiM0
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18.3¢ /2 = 1.4142
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B. 5.8282
C. 04142
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Qmmaﬁ

19.3f¢ /2 = 1.414

V3 + /6 BI &Hd & I W db T 8P :



https://dl.doubtnut.com/l/_wFGPBlFhkiM0
https://dl.doubtnut.com/l/_JuyQ414lL0Zd
https://dl.doubtnut.com/l/_A8uyfn4aVbuA
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B. 0.707

C. 1414
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Answer: ¥
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https://dl.doubtnut.com/l/_A8uyfn4aVbuA
https://dl.doubtnut.com/l/_FSvA3yWeq3QE
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f VB
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1
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Answer: 3
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https://dl.doubtnut.com/l/_FSvA3yWeq3QE
https://dl.doubtnut.com/l/_InCOfGWmriej
https://dl.doubtnut.com/l/_85rYymiJaI4N
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https://dl.doubtnut.com/l/_85rYymiJaI4N
https://dl.doubtnut.com/l/_N3WXcnPX2nJS
https://dl.doubtnut.com/l/_XfBqy1vV8RFx
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